



이름: _____

날짜: _____ 점수: _____

$$\left(\frac{3}{4}\right)^3 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{1}{4}\right)^3 + \frac{1}{2} =$$

$$\left(\frac{2}{5}\right)^3 + \frac{1}{3} =$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{2}\right)^3 - \frac{2}{5} =$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{3}{5}\right)^0 + \frac{1}{4} =$$

$$\left(\frac{3}{4}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^3 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{2}\right) + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{3}\right) + \frac{1}{6} =$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{4}\right)^2 - \frac{1}{3} =$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{1}{2}\right) =$$



이름: _____

날짜: _____ 점수: _____

$$\left(\frac{3}{4}\right)^3 + \left(-\frac{1}{4}\right) = \frac{11}{64}$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{1}{5}\right) = \frac{22}{135}$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{2}{5}\right) = \frac{49}{135}$$

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{2} = \frac{3}{4}$$

$$\left(-\frac{1}{4}\right)^3 + \frac{1}{2} = \frac{31}{64}$$

$$\left(\frac{2}{5}\right)^3 + \frac{1}{3} = \frac{149}{375}$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{1}{5}\right) = \frac{9}{20}$$

$$\left(\frac{1}{2}\right)^3 - \frac{2}{5} = \left(-\frac{11}{40}\right)$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{2}{5}\right) = \left(-\frac{11}{40}\right)$$

$$\left(\frac{3}{5}\right)^0 + \frac{1}{4} = \frac{5}{4} = 1\frac{1}{4}$$

$$\left(\frac{3}{4}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{57}{320}\right)$$

$$\left(-\frac{3}{5}\right)^3 + \left(-\frac{1}{6}\right) = \left(-\frac{287}{750}\right)$$

$$\left(-\frac{1}{2}\right) + \left(-\frac{3}{4}\right) = \left(-\frac{5}{4}\right) = \left(-1\frac{1}{4}\right)$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{1}{5}\right) = \left(-\frac{31}{180}\right)$$

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{1}{3}\right) = \frac{28}{75}$$

$$\left(\frac{1}{3}\right) + \frac{1}{6} = \frac{1}{2}$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{3}\right) = \left(-\frac{5}{24}\right)$$

$$\left(-\frac{1}{4}\right)^2 - \frac{1}{3} = \left(-\frac{13}{48}\right)$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{3}\right) = \frac{37}{75}$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{109}{216}\right)$$